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Yo et a2

RRB ALP & TECHNICIANS 2018

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

Question ID :9864494833

93 + J32 ++/274 ++225 =T AT AT a-;_i'| Status : Not Answered

Chosen Option : --

Evaluate: |93 + JEZ ++/ 274 + /225

Ans xlg
X211
X212
v 110

Q.2 16T F TAE I Ud AT 3w 209 U o9 7 TAE H o

former afomATERT 9 ot # Awa 21 @ T ST vE 3w oy sEe Question ID :9864494908

onfRrer g o, foreds aRuTEERT BEg ¥ o @ st s O BR e 205 Status :Not Answered
&1 T g oF W S 9 o AR ' # onfEe @ e o # st Chosen Option : --
oTeAT T A

The average marks obtained by a group of 16 students was 20. One student left the group
as a result of which the average of the remaining students rose to 21. But another student
joined, as a result of which the average marks of the group dropped a bit and became 20.5.
‘What was the average marks obtained by the student who left and the one who joined?

Ans - X110
X 211
X 38
v o

Q.3 10Q feRia® W 77 140V F eiEicn Fqwgad giam § of 388 gt yared

g arelr arT Fr e FifE)

Calculate the current flowing through a resistor of 10() when a potential difference of
140V is applied across it. Chosen Option :1

Are 14 PR
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Question ID : 9864494996

Status : Answered
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, 140
140 Amperes
1400 efPaaT
X 3
1400 Amperes
x o 14 [YF=cp s
1.4 Amperes
Q4 T ey alaT # PR & Ffisa 3 & semar faeletor sfgmanst &

P _{a = T T Question ID :9864494614

i . . . Status : Answered
In a longitudinal wave, the distance between two consecutive compressions and two
consecutive rarefactions is called: Chosen Option : 2

Ans

X1 uerey
Matter
SECICE=]
Wavelength
giyAToT
Magnitude
T
Energy

V>

X3

X a4

Q.5 T 7T Fodem & T A X T AT 9T F F & 7% oemanat # F w5
o awaem F Bl @

EEGEUH

Question ID : 9864495015
Status : Answered

Chosen Option : 1

ST TR AR dg aTeAT @il g aF agd ¥ AT A Tod § 9 $§ s
@ o =t o R B

w

A
1. Afy dramss @ @ @ @ gt & Ay & oo @
2. 7T FE S =ga § & Ot & diens Y e

Consider the given statement to be true and decide which of the following assumptions
is/are implicit in the statement.

Statement:
When your dress is excellent, many people ask which tailor has stitched that dress.
Assumptions:

1. If the dress is bad, people don’t ask about the tailor.

2. People want to know how to stitch the same dress.

Ans =
), P Hl 2 g 2

Only assumption 2 is implicit.

Z'IITFﬂ'1IIT2ﬁ-'I'ﬁ;-K'Fr§'I

Either assumption 1 or 2 is implicit.

3.a‘|ﬁmnl?|r13ﬂ12ﬁ‘%r-r§|

Both assumptions 1 and 2 are implicit.

~x

~<
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7 Fad AT 1 AT 8

Only assumption 1 is implicit.

Q.6 TERET ardT Afger el # ¥ wia & gondt soeE Sigr 45.3 3iET
H 320 T T faeg i qge SE a9 T SEe v o e
(ODI) faFere & uger e & wigierdr & 300 & &=ie?

‘Which of the following Indian women cricket openers scored 320 in 45.3 overs to become
the world’s first pair to achieve a 300-run opening wicket partnership in one-day
internationals (ODIs)?

- afta A AR 97w 3a
7 1

Deepti Sharma and Poonam Raut

ST ggerstl 3T fAare
Diana Edulji and Mitali Raj

s faret 1= 3k §iftT o=
Mitali Raj and Deepti Sharma

, T T3 AR e 1=
Poonam Raut and Mitali Raj

x

x

Question ID :9864494390
Status : Answered

Chosen Option : 2

Q7 W ey Rafeerw Ml # & W e & fow ofag B2

Sir Charles Wilkins is known and remembered for which of the following translations?
e e TrEe @ Rl A
‘The Old Testament’ to Hindi
X2 aefaerar ZEr &7
“The Bible’ to Hindi
| 'STE e e A
‘Bhagavad Gita’ to English
'AMETorA’ & 3T H
‘Shakuntalam’ to English

-

p

Question ID :9864494501
Status : Answered

Chosen Option : 1

Q.8 34 faFed & Tue HX, S wgd o & Byt & Fewn & sl ar 3

@

Select the option that represents the number of triangles in the given figure.

Question ID :9864495117
Status : Answered

Chosen Option :3
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Q9 ;X F A Y & T Hr gFpalle TN A Y & ufy &7 foar X & Question ID : 9864494371
gl ‘ Status :Not Answered

If X’s mother is the only daughter of Y"s father, then Y’s husband’s father is X’s Chosen Option : -

Ans T/ AT
WL
Grandfather

, 9T a1er/ 9 AT
' Great-grandfather
== [ATAT [G%1 AET /a5

X 3.

Uncle

frar

Father

10 3qTaer S TH.AE. (SI) IHP F4T 87 Question ID : 9864494695

. ) | g
What is the ST unit of Charge‘? Status : Answere

X a4

Chosen Option : 1

Ans holdd
¥ S
Coulomb

X2
Amperes

drc

X 3
Watts

Aol
Xa
Joules

Q.11 TF FHFAER Fo 32 T 19.20 9y g5 F & F wliear 7 3R 26% @y W

AT 5 R o v A R = e 2 Question ID :9864494818

A shopkeeper purchased some eggs at ¥ 19.20 per dozen and sold them at a profit of 25%. S L S

What is the selling price per egg? Chosen Option : --

Ans  X'1.F 220
< 2%1.60
v:72.00
X 4%1.80

Q12 ?FI%HTEIT F Iiaa &r QEBTIT-I' o Eﬂ?ﬁ %-P’ Question ID : 9864494707

Status : Answered

What marks the onset of puberty in females?

Ans mﬁqﬁ;‘.
P N

Menopause

2 IERIRCE=)

Adolescence

/@ Download RRB Exams PDF E-BOOKS

Chosen Option :3
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X 3
Menstruation

«4. mﬁﬁ

Menarche

Q.13 Afr12x%- ax + 7 = ax? + 9x + 3F FAA T (THIgedd) TAWT ¥ & a F

- % Question ID : 9864494566
10T WhNTcHAh HATYT &7 g ©

Status : Not Answered
If12x?- ax + 7 = ax® + 9x + 3 has only one (repeated) solution, then the positive )
integral solution of a is: Chosen Option : --

Ans xl_z
<24
Vs 3
X5

o mﬁ S '.g' oI dr qE ehl = e a”_‘i-l Question ID : 9864495065
GPW, GPUW, GIPUW, GIPSUW, Status : Answered

Chosen Option : 4

Select the term missing from the following series.
GPW, GPUW, GIPUW, GIPSUW,

Ans - X1 GIPKSUW
#< 2. GIJPSUW
< 3. GIKPSW

v+ GIKPSUW

Q.15 Tl s@er #, W REa (?) N REIv 710 3R & 95 Iaied

. . Question ID : 9864494246
¥l R e fawedt & aaited ug &1 w5 &

Status : Answered

Chosen Option :1

AZ, BY, CX, DW,?

In the following series, one term is missing as shown by the question mark (?). Select the
missing term from the given options.

AZ, BY, CX,DW, ?

ans of 1 EV
X 2 EX
X 2 EY
X~ EW

Q.16 7577 @ Ts of @1 &= & o s & @9 o ®i9 @ wEw gerd Se?

The least number that must be subtracted from 7577 to get a perfect square is:

Question ID :9864494593
Status : Not Answered
Ans X' 1.7 Chosen Option : -

X26
X35
V8
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S T AT I T T H HEATE, 79 AT U H A g A
e F BT A TEHF AT

As a sailor jumps in the forward direction, the boat moves backwards. This example
illustrates Newton’s:

Ans x 1 atfer &1 g T

Second Law of Motion

=1fer &1 Tg e 3R gERT o

First and Second Law of Motion

o T T e o
Third Law of Motion
a1t 1 ager A=A

| First Law of Motion

X2

X 4

"AN Exam St udy Not es

Question ID : 9864493359
Status : Answered

Chosen Option :3

Q.18 Tafi@a & & Fia W& Fu=T Ted 887

A TEAT WG H A T WG H A & a0l 8

B. TF @Y ¥ 13eT 1 g W @ g5 & S, o geaaner 2 e
3 2 forairame &, % @ AL @ JTeT e 9 26,68 x 1071 N#

C. 7gd & THcAHIUT F T IA FIERICT 7 & AT g

D. 39, & IEgHAT & 919 F g F T & FeFAGI g gl

‘Which of the following statements is/are INCORRECT?

A. The value of G on the moon is equal to that on the earth.

B. 26.68 x 107** N is the force of gravitation between two point masses of 2 kg and 2
kg kept 1 m apart.

C. Newton’s law of gravitation is valid in the laboratory only.

D. Force is inversely proportional to the square of the distance between two bodies.

Ans
1 B,C 3D
B,CandD

, el C3HRD
C and D only
Shefel C
Only C

4mA
Only A

v

Question ID : 9864494950
Status : Answered

Chosen Option :3

Q.19 8.5% WIRUT ¥ =4 & & W 6 aut * e F3f¥T T 2,000 Fr vfr o
TFa=T =ars ueg gen?

A sum of T 2,000, invested at the rate of 8.5% simple interest per annum for 6 years will
yield an interest of:

Ans X 1.F 035
v 2 1,020
X 33510
K 4T1.275

Question ID :9864492727
Status : Not Answered
Chosen Option : --

Q.20 =f¥ 3 Z=ieT 3F%E H FFa T 90 &, AT 240 ﬁ%ﬁrmuﬁa‘mm%‘?[

Question ID :9864494835

If 3 doz

Ans

file://lhome/chrono
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9gaAT IEI-EEE TR e §

Name the Scientific Adviser to the Defence Minister and DRDO’s DG (Missiles &
Strategic Systems) who has won the first IEI-IEEE Award for Engineering Excellence-
2015 in recognition of his significant national contributions towards missiles and
aerospace technologies.

Ans 3ﬁm -
p N T =e
Avinash Chander

. Tog. ror FAR

A S Kiran Kumar
. 1. =Y. Tder 9
Dr. G. Satheesh Reddy

x

v

R F AT AT T AT E ?
HUA:
A) TifzTH 1 ofea 717 Sfemw &
B) =4I & oAfeed ATH 31ofecH g
Which of the following statements is/are true or false?
Statements:

A) Natrium is the Latin name of Sodium
B) Argentum is the Latin name of Silver

Ans

<
v 296
<3102
< 4.90
Q21 R 71v wafm weanst & ST F R W uirT §Ear 7
1990 : 1384 :: : 2017
Select the missing number based on the given related pair of numbers.
1990 : 1394 :: 12017
Ans X1 2361
v 2 2613
< 32163
< 4 2631
Q.22 T F#F % d9AE FeReR HT SHREET & mgiEcers (Basa i amfis
HUTR) 1 A qd1¢ Segis Fse AR saie sieaf@ifeal #§ 30 Ageaqr
T4 ARTE AT & % T 2015 #  sShiEafer sepvear F T

file://lhome/chrono

hosen Option : -- J
Question ID : 9864495011
Status : Not Answered
Chosen Option : --
Question ID :9864494425
Status : Answered
Chosen Option : 2
Question ID : 9864494677
Status : Answered
Chosen Option : 2
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x FUATATE &

| Only statement A is true
. Fael FUTB TEr &
Only statement B is true
v g FuT A RBHE ¥
Both statements A and B are true
X o g FuT A R BIET &
Both statements A and B are false

~<

. |3(1) o BI bl HleT T - Question ID :9864494071
What is the value of |3(1) — 6]? Status : Not Answered
y Chosen Option : --
Ans « 1. 3
X2 0
X5 -3
< a4

Q.25 AT & & i W el T e 37 _
Question ID :9864494660

A Status : Answered
A) H, S0, T 53T ST 3 9ot & Hewt T 3 Tiffsmi i gerer & fore fmar Chosen Option :3
Sarg |

B) WU 2153 1R1SS (NaOH) T 75T 9T 215311 & 3Taa! Sl 39T Efa S HroT g |
‘Which of the following statements is/are true or false?

Statements:

A)H,80, is used in the refining of petroleum to remove sulphur and other compounds.

B) The basic nature of Sodium Hydroxide NaOH) is due to the presence of Hydrogen ions
in the solution.

Ans 1 At FuTITaa ¥
Both statements are false
X FTT FUT A TETE
Only statement A is true
| FIT U B HE B
Only statement B is true
x o T FATTEE |

Both statements are true

v

~<

Question ID : 9864495062
Status : Answered
Chosen Option :4
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e &

THF ¥ IR % UF fewe FT Fwedar $I AT F

HeHT:
1. SERaT Fr 9NEET & AeTs B S e B
2. ST, AT T IE OET & sy T &

Consider the given statement and decide which of the given assumptions is (are) implicit.

Statement:
Kindly check the availability of one ticket from Tumkur to Mangalore.

Assumptions:
1. The person who is checking knows the mode of transport.
2. The person who is checking knows the passenger who is travelling very well.

Fael A 1, fafga gl

| Only assumption 1 is implicit.

e e 2, e B

| Only assumption 2 is implicit.

o & A 1 3 2 ffea @

1

X 3.
Either assumption 1 or 2 is implicit.

"t 3R 2 a&r siegAe fafga &

Both assumptions 1 and 2 are implicit.

'AN Exam St udy Not es

Q.27 zr mgenfEt M 3t N & v & @l M & 53t 3 fge & #r s

a:ga:ra;mm;r%m M & N & 3o # T 31,540 F7 faw| 1 Fr Fwe
e &2

Two partners M and N buy a car. M pays his share of gth of the total cost of the car. M
pays < 31,540 less than N. What is the cost of the car?

Ans X' 1.3 2,32,680

< 2.¥2,03,175
v 2.32,20,780
# 4.31,85,780

Question ID : 9864494851
Status : Not Answered
Chosen Option : --

Q.28 T T dsfew Fyemsr foery e fifg ¥ Fvwen # WA ¥ Hzw

Ans

file://lhome/chrono

T F BEae gEEe # 21-15,21-11 ¥ U FeATead § ¥ He @
et <hehr 2

Young Indian shuttler Siddharth Pratap Singh has won which of the following series by
defeating Denmark’s Mads Christophersen in the finals by 21-15, 21-11 in Uppsala?

p N
2018 HTEToI 39T R FeLAeae
The 2018 Australian Open Junior International
5 5, 2018 T U AT FeTAATA
The 2018 US Open Junior International

Question ID : 9864494419
Status : Answered

Chosen Option :1
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v 208 FEEr O FAIT ST

The 2018 Swedish Open Junior International

F s
2018 SAATH HId J(AI FETREAA

The 2018 Denmark Open Junior International

Q.29 faw 7w 3eat T & ¥ 9 v= +1, v v wHEw oy & wieafem Far s
]

FHED B

A

3ot =

DI=|A A

A B C D

‘Which of the given Answer Figures is embedded in the given Problem Figure?

Problem Figure

A

Answer Figures

DPI=[A[A

Ans 2("1[)
v 2B
X A
<aC

Question ID :9864494773
Status : Answered
Chosen Option : 4

Q.30 =G Scormsm fafaftat & & e Tufas F=1 (PE) & aifas Far
(KE)# wfafda e o

In which of the following mentioned activities is the potential energy (P.E.) converted into
kinetic energy (K.E.)?

Ans . T &1 farme

The explosion of a fire cracker
| T RIS HAT

The switching on of a torch
| T T A TR A

The switching off of a torch

Tk YSoIH FT Selell
2 L

x

~<

v 2
The swinging of a pendulum

Question ID : 9864494671
Status : Answered
Chosen Option : 1

Q31

file://lhome/chrono
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Ans

'AN Exam St udy Not es

Status : Answered

Chosen Option : 2

Select the option that represents the number of squares in the given figure.

$

V2
X 21
X34
X443

Q32

Ans  of 1
>

file://lhome/chrono

Below 20 years - 20 a9¥ & &H Iy arer Between 20-40 years - 20-40 a§
& & @1 3T aTer Above 40 years - 40 T ¥ fiw Iy A

faw v swE SER AR AER, @R % T S B A 1 e et w
FIT H FA

Ify el T orw o &, 5,00,000 =it & e @ g B g & e B oamr
w4 Ao 20 ¥ 40 a9 & @i F A o F HERfE = 20 99§ w7 5y
T T FAAT & W, 3 e &

The given figures depict the country-wise and age-wise distribution of the people who visit
China for business setup.

If in a given year, 500,000 people visited China, then the ratio of the number of Americans
with the age group between 20 and 40 years to the Russians with the age group below 20
years who visited China is:

Question ID :9864494737
Status : Not Answered

Chosen Option : --
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K321
Ka1:4
Q.33 3M1eFfer # et 7 35 ‘0’ F| HHFT OAPB F1 SITheA Iocl o BTG F - #T g Gt (B ERE AEEL S
x AT FfET)
Status : Answered
Chosen Option :1
A B
P
In figure ‘o’ is the centre of a circle. The area of sector OAPB is i of the area of the
circle find x.
A B
P
Ans
x 1 120 =L
120 degrees
v 100 =L
100 degrees
x5 125 e
125 degrees
x5 115 =L
115 degrees
% ggea EIESIHIeAT I AT Fgl AT ¢ ? Question ID : 9864495002
: d
Saturated Hydrocarbons are called: Sta_tus Answere
Chosen Option :3
Ans TohlSed
KL
alkynes
X 2 SLIEEREL
isomers
¥ &) Toehel
alkanes
X a4 TeehI
alkenes
Q.35
Question ID : 9864495022
Status : Answered
Chosen Option :2
& Download RRB Exams PDF E-BOOKS iz
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Fer: s, afﬂﬂaﬁrmqaﬁmﬁmﬂh#aﬁ?rﬁl e go et &
FTIR 9T 37 T T FA WEAT Rhael § S AT 3 s 92 w § A
iR 78 9= w2
In the following diagram, Set U is the universal set, and Set L, M and N represent students
studying History, Geography and Language, respectively.
Based on the given data, what is the total number of students studying Language and
Geography but not History?
Ans F 1

X211

X319

X a2

Q3 Qg F ¥ frudr FAT ¥ Repey Ay g 72 Question ID :9864494706

Rickets is caused due to the deficiency of: Status : Answered
Chosen Option :3

Ans v f@er@= D
Vitamin D
faafaga
Vitamin A
, faafa=rs
Vitamin B
, afa=c

Vitamin C

Q.37 U A, B AR ¢ el @rehr & ¥ 2 8 wed & o e 4 A 10 S A _ _
O AW A ¥ ST A g o S 9 6wt # @ a% gaT ¥ A Question ID : 9864492731
Tt et F vk A S G S, S e ol g o S A Status : Answered
T H rad O e Chosen Option :3
Pipes A, B and C are attached to an empty cistern. While the first two can fill the cistern in
4 and 10 hours, respectively, the third can drain the cistern, when filled, in 6 hours. If all

the three pipes are opened simultaneously when the cistern is half full, how many hours
will be needed to fill the cistern?

Ans ( 1 ﬂ

11

60
KZ'E

& Download RRB Exams PDF E-BOOKS
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T 11

X3
90

4, =
11

Downl oad RRB ALP TECHNITPAN
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Q.38

Ans

T g & 8-10 fggeR 2017 d& famees & fiuat I9me & §ARE & 9
F &7 # aeh o= &9 uaa a1 Sraes Agcas AEitag e g

‘Which country hosted the ‘Bodhi Parva: BIMSTEC Festival of Buddhist Heritage’ from
8-10 December 2017 as part of BIMSTEC s 20% anniversary celebrations?

p N
Nepal

Question ID :9864494421
Status : Answered
Chosen Option : 2

Q.39

Flless TFR o 24 fGHaT 2017 F 19T U & FHea 1 o Fd g
T F AN F CHT g AET T AT o e FEA €| A 59 e
= BFE §E F w9 & =T == F Bw B 2

The Karnataka government launched the Bengaluru city logo — making Bengaluru the first
Indian city to get its own logo — on 24 December 2017 for branding the city as a:

X1 AT T
tribal destination
x o, el 3T PHreT Tue
art and craft destination
vz Ted T
tourism destination

x o regTicHs T
spiritual destination

Question ID :9864494407
Status : Answered

Chosen Option : 2

Q.40

5 g6t & T 9fy o OreRur s 9% & &7 ¥ Tx i 39T FeT W 39T &
1T forerar & forgem & 8 ot & fore wigy a¥ aramor sa1=r 6.25% F W T T
y & A #e 9T e ¥ x: y A w2

T x invested at 9% simple interest per annum for 5 years yields the same interest as that on
T y invested at 6.25% simple interest per annum for 8 years. Find x: y.

Question ID : 9864494537
Status : Not Answered
Chosen Option : --

ans X116 : 15
v210:9
< 345 : 50
<45:8
Q.41

file://lhome/chrono

Question ID : 9864495031
Status : Answered

Chosen Option :1

& Download RRB Exams PDF E-BOOKS

14/28


https://career.aglasem.com/
https://rrbexamportal.com/study-kit/rrb-technician
https://rrbexamportal.com/ebook

o/4/2018 Downl oad. RRB ALP TECHNlofff’N\I Exam St udy Not es

‘Fa’vmsra;rﬁqz‘s FiT FVT TFded T3 H Il aoF
fore waea ¥

L X TF Wiptas HEA §, ° F X+6 v §?

EUE GG

1. X—15 ©& U7 HEAT ¢
2. X—6 U fawa gEm

Read the following question and decide which of the given statements is/are sufficient.
If X is a natural number, is X+6 odd?

Statements:

1. X—15 is a whole number.
2. X—6 is an odd number.

Ans \fl
92 @ 3cal 3 & [T 2 3Fhell 9UTed & SAaiF 1 HFall gaed 8l 21

2 alone is sufficient while 1 alone is not sufficient to answer the question.

X 2
T3 F oW & & faw 1 3k 2 2 s &

Both 1 and 2 together are sufficient to answer the question.

X 3.
9T FT 3ol &of & farw or ar 1 1 2 g 2

Either 1 or 2 is sufficient to answer the question.

F 8
9o FT 3oa? o & T 1 3har queg § 9% 2 3rker AT 87 ol

1 alone is sufficient while 2 alone is not sufficient to answer the question.

Q42 (5x —3)(x+4) —(2x+5)(Bx—4) = Question ID : 9864494826

(bx—3)(x+4)—2x+5)3x—4)="? Status :Not Answered

a Chosen Option : --
X1 —x24+10x—8

v _x?1+10x+8
K3 x24+10x—8
K4 x24+10x+8

Ans

Q.43 ZfEuT AN AT & SfEh OR &1 A1 F1 7 3@ g W 9T AR _
" # e ¥ Question ID :9864494498

What is the name of the southernmost tip of the continent of South America? At this place Status : Answered
the Pacific and Atlantic oceans converge. Chosen Option : 4

Ans X1 T T3

Cape Town

%trm?ggﬁtr

Cape of Good Hope

9 gt
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X4 heTaTer
Cape Canaveral
Q.44 =1 51 frdner fa 5e & 7ifx & v fvaw gfr =1 2] 9af # 7@ = 7 fon b : 9864494880
68 frialieT ofy ¥ &1 1 ¥ 3 g F 7T @ F B A B uCSteninE
FAT FEM? Status : Answered
Chosen Option :2

Raj takes 2; hours to complete a certain distance at a speed of 51 km/hr. What time would
Kiran take to complete the same distance at a speed of 68km/hr?

Ans 15 Elé:

Q.45 15 W g, QAUH FHIS T Jolell H ER[AT I T o 34 F 9 W 7g Gt (B CRE £

5 < uestion ID : 4494
o= i : Fm il Status : Not Answered
15 years ago, Shyam was twice as old as Prabhat. Five years from now Prabhat’s age will '

be 2 of Shyam’s age. What is Shyam’s current age? Chosen Option :--

Ans 72 T
72 years
75 "Hlel
75 years
30 "It
80 years
64 Hlel
- 64 years

Question ID :9864495057
Status : Answered

Chosen Option :3
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figer Yo = Ag W e ¥
e =&y
A B C D
Select the option that depicts the following transparent sheet (Problem Figure) when
folded at the dotted line shown.
Problem Figure
B L :
A B C D
Ans ?{ LC
X 2D
<3 A
v B
Q47 AT '
Eiﬁ %I Question ID : 9864494625

has naked seeds Status : Answered
Chosen Option :2

Ans 1:|'|3;|;|:|'
v

Pinus

X 2. E-'ﬂil;;
Lemon
IMMAT

' Carrot

xR

Wheat

X3

Question ID : 9864495094
Status : Answered

Chosen Option :1

& Download RRB Exams PDF E-BOOKS

fiIe:///home/chronoJ 17/28


https://career.aglasem.com/
https://rrbexamportal.com/study-kit/rrb-technician
https://rrbexamportal.com/ebook

azons Downl oad RRB_ALP_TECHNIXPAN Exam St udy Notes

#=r BT 17 9T 9T oo T # ReeEg 7 8

T wgEe B #
a9
A X AY & F ¢ HF st a7 T § FifE A AT & d
ST = §1”
B’Ia'l’l'ﬁl' :
1LAXAY T aaw
2. Y S € & A X, =z A w E
Consider the given statement and decide which of the given assumptions is (are) implicit
in the statement.
Statement:
Mr. X said to Mr. Y, “I want to become a doctor because I want to serve the mankind™.
Assumptions:
1. Mr. X is lying to Mr. Y.
2. Mr. Y knows that Mr. X is lying.
Ans
Faa 3gA= 2, Afga 1
Either assumption 1 or 2 is implicit.

- 13X 2 @ sgEe fafga 2
2.
Both assumptions 1 and 2 are implicit.

ar ar A 1 srwar 2 fafga 7

W 3

F 0
Fae A 1, @fga &

Only assumption 2 is implicit.
Only assumption 1 is implicit.

x

Q4 oo H | FieT T oTg Fod HTEAT H 915 AH 87 Question ID :9864493591

Which of the following metals is found in free state? SIS SANSEEE
Chosen Option :1

Ans xl‘mﬁi‘ﬂl’

Sodium

=T
Gold

EICATIEEe

Potassium

v

X3

Q.50 _
Question ID : 9864494802

Status : Answered

Chosen Option :3
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1

1t i
Trtete (AERTetttettt |1f

1it [ttitet |

1
111

—
FR e v et Fr G5 vE F9 % IER T 4 | 56 FA & e
FT ATeT T R AT A E 2

is

Treeee (ATTT0L[ATR008 (1T111L

The above figures are arranged in some order. The next figure that follows the same order

11 n i
111111 1t
freeaeee | annnet

A B C D
11
11 Tier  [preet(eeeeet

T T I
ERAARALAl 1111t
[ TIttt(Itentt |ttt
A B C D
Ans ?{1,(:
< 2B
V5 A

X 4D

ALP TECHNITfAN Exam St udy Not es

Q.51 1 & & wieH & gedl & uw A fFae #td fGv a fawedi # & wgr fawew &1 aaw

B

A Ffowmm, sieRi=a |1 Sowan wiewss 1
qA

B. CaiP, L Hﬂ—gﬁﬂe\;}ﬁ
39T ded

C. 01 el 1. 59 §&IT &r
T foRde
T AT 3

D. Us STHV] AT HU[ & (IV. 2.3 o @z &
U A GA] He 7§
SUHT A GRHVISHT
ar g & Afdaa
T 6.022

%1073 grdr &1

Select the option that correctly matches the contents of the first column with the contents
of the second column.

A. Calcium, Oxygen 1. Formula of Calcium Phosphide
B. CazP, II. Elements present in
Quicklime
C. 0.1 Moles III. This number is known as the
Avogadro constant
D. The fixed number of IV. Are present in 2.3 g of Na
atoms or molecules
present in gram atomic
mass of an atom or
molecules is 6.022 x 1022

Ans X1 AL B-IV. C-I, D-III
X 2. AJIL B-1, C-IIL, D-IV
75 3. AL B-II, C-IV, D-III

W 4 AT BRI C-TV LTI

Question ID :9864494917

Status : Answered

Chosen Option :2

| & Download RRB Exams PDF E-BOOKS @

file://fhome/chronog

19/28


https://career.aglasem.com/
https://rrbexamportal.com/study-kit/rrb-technician
https://rrbexamportal.com/ebook

hazos Downl pad RRB ALP TECHNI®FAN Exam St udy Not es
Q.52 ﬁm il. ﬂ. qﬂ;r m FTH FT Thdl %.-’ Question ID : 9864493501

Status : Answered

Which of the following can do more work? Chosen Option :2

Ans xlwaﬁquﬁm

A rotating wheel
v @ &I T FoIl g3 el
A moving bullet

o3 afaRfier TR
A speeding stone

4_wm§mgzﬁ§,r

A raised hammer

x

Q.53 3= 12 Tt # v AfE & Wl §1 FAA AT § 70% AEF FE E
i 9T Y gaw & 3BT 1 Ghaw e e

Ajay can do a painting in 12 days. Amit is 70% more efficient than Ajay. What is the
number of days Amit would need to finish the same painting? Chosen Option :2

Ans Kl- Bﬁ
X252
X3 3§
v Tx

Question ID :9864494820

Status : Answered

Q54 smyferer et arforT A freer W AR e Ao & Question ID : 9864494683

How many groups and periods are present in the Modern Periodic Table? Status : Answered

Ans x ) 1'4313', 9 m Chosen Option :3
1.

9 groups, 9 periods
7 THE, 8 HE
2.

x
7 groups, 8 periods

18 THE, 7 HEd
v =
18 groups, 7 periods
8 HHE, 7 &
p 8 ™

8 groups, 7 periods

Q.55 )
Question ID :9864494753

Status : Answered

Chosen Option :1
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Ans

N\ o

A B C

UOOO

Select the figure that does NOT belong in the following group.

N 0
\\ hﬁ *i?j\? 0
X:\A B C

X 2B

XD

viC

O

O
@]
D

g
>
g

'AN Exam St udy Not es

Q.56 v v Fum # 9 A TT F & Fuw A § 1 oA F amw W/, gEE

Ans

file://lhome/chrono

I FEE H ¥ FHST GHETT T F el 27 6T 2

EaicH

T HErEHT & ERe, 5 e & FEt 3fenh g & sron, G s
T F e 55 fmer o gmy o andr s

T

1. TIFEF HTETHT F T TR A9 F BT FI oF & Fee g
=fea
2. T Rl &7 9Teld FH A & fore foeer sgrn Se @nfge Ak
iz &ear =g
Read the given statement and decide which of the suggested courses of action logically
follow(s) on the basis of the information given in the statement.

Statement:

During natural calamities, many departments blame each other for any wrong-doing due to
overlapping functions of these departments.

Course of Action:

1. Only one department should be there to take charge during natural calamities.
2. All departments should be held responsible for wrong-doings and punished.

JLEI'HT1EI'?I'FI'ZEI-TI'CIEEI'E’IFIT§I

Neither 1 nor 2 follows.

x2_13ﬂ12aﬁa€rwg‘|m%|

Both 1 and 2 follow.

Question ID :9864494736
Status : Answered
Chosen Option :4
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s Fael 2 FH el gar gl

Only 2 follows.

FFer 1 T Irel=T BT &l
Only 1 follows.

X a4

Q.57 THIAT & 7T W3 F1 I TeIreley el Tferel T 7 F90 Fr BigRt
SHTEE & e 3R AgeT Yo S ?

Salil Parekh, who took charge as the new CEO of Infosys, is moving out from which
company to join and lead Infosys? Chosen Option :2

Ans x . 3_.'1? T Ty
IBM
X 2. TFHIR
Accenture

‘,3_%q?rﬁr‘-’lﬁr

Capgemini

o, Pt

Wipro

Question ID :9864492394
Status : Answered

Q58 geprer Ay HHTE BT F ¥ Bw mmeww & @ 2 Question ID : 9864494613

The speed of the light is maximum in: Status : Answered
Ans EET Chosen Option :3

Q.59 AU 9T Farded! H WA AT & Tof 3 Tg AT HY o BT T (A1) TrewT

S T @ (@ ) e ¥ | Question ID : 9864494789

Status : Answered
TeFded: Chosen Option :4
FT deme $iel § | 5§ At § | $0 A v | |
sy
1go g e
2. FF TR AT @ E

Take the given statements to be true and decide which of the conclusions logically follows
from the given statements.

Statement: Some ponds are lakes. Some lakes are rivers. Some rivers are seas
Conclusions:

1. Some seas are lakes

2. No sea is a lake

Ans xlluﬁ'{za#’raﬁmmm%

Bnth 1 and ? followes
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T ar 1 I 2 3TTET FIAT § |

Either 1 or 2 follows
- Fael frsewy 1 3TEIT FIAT ¢ |
3.

Only conclusion 1 follows

K_leﬁw:&zaqwmm%l

Only conclusion 2 follows

.60 Tr=faf@aad
Q A 10 T/ TR 7 Question ID : 9864494659

FUA: Status : Answered
A)H, S g H e 3 H,0 3R 50, ardl Chosen Option :4

B) FSAT H 3y & g e FIHIHSA Fe,0,, SO, AT S0, ZaTH
‘Which of the following statements is/are true or false?

Statements:
A) H,S burns in air to give H,O and S0,

B) The decomposition of Ferrous Sulphate into Fe,0;, SO, and SO; occurs in the
presence of heat.

ey PUTAIRBEAATEE |
Statements A and B both are true

| FU A TEIESAa B o |
Statement A is true, while B is false

| FITAABIEAE |
Statements A and B are false

, T B WA, FTH A T
Statement B is true, while A is false

x

x

X

Q.61 uffm aws 3R Ager F T T o FiT F gor ¥ TaRT B2

To which country does the celebrated author and leadership speaker Robin Sharma
belong?

Ans m.r”
v
Canada

Question ID : 9864492182
Status : Answered

Chosen Option :3

Q.62 wér ¥ 2:30 F=lat W T Fr FEIHT @R o e For F@?

What is the obtuse angle formed by the hands of a clock when the time in the clock is
2:30?

Ans ?(

file://lhome/chrono
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Status : Answered
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<2120
v 3.105°
< 4.165°
Q.63 37 =¥ & A Fa o Tea foer & 9 & e oud a7ren ang _
A, ST TAR e RS @ TETETE) F Ui e F agd FEVeR oS Question ID : 9864494468
w1 glewrie it garar T ¥ Status : Answered
Name the state in which the village Gumthala Garhu near Pehowa in Kurukshetra district Chosen Option :4
has become the first Wi-Fi hotspot village under bulk plan of Bharat Sanchar Nigam
Limited (BSNL).
Ans TS
. -
oL
Gujarat
. feaTTe wear
~ 2
Himachal Pradesh
x 3cdl e T
3

v

Qo4 DT # § &l T FUT §T 87 Question ID ;9864494928

Which of the following statements is true? Status : Answered
Chosen Option :3

 Uttar Pradesh
Ans K 1.

' Haryana
ezt @ o v Ff & 70 # BF 9w R qugE dew FAEE g 8l
In grasshoppers and some insects, the male has only four sex chromosomes.
X 2
et a0 & v X TumgE AR @ Y e @ gl

A male individual contains one X and two Y chromosomes.
< 3.

Al 7 46 UTT B § omdE & 42 (21 SR) HfenRt aorgs @ d

In human beings, there are 46 chromosomes, of which 42 (21 pairs) are autosomes.
o 4

aRrfore <, e R s T A E, e et 3 st

& & Tae Ssr g g S o i Trdwor #ar ¥ ot 5 g e qomE

T2 2

In diploid organisms having separate sexes, a specific pair of chromosomes in each

diploid cell determines the sex of the individual; they are called sex chromosomes.

Q.65 15, 30 ¥ 45 fie & el W For: O Ufedl a=rdr § | AT T gEe )
Question ID : 9864494812

8.00 5=t TH WY Feich § o I ST § TR WY & S=ien? Status : Not Answered
Three bells ring at intervals of 15, 30 and 45 minutes respectively. At what time will they

Chosen Option : --
ring together again, if they rang simultaneously at 8.00 AM?

Ans
x1 gag 8.30 g
8.30 AM

_ gae 9.30 g
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AL I 1
A B C D
Select the option that depicts the following transparent sheet (Problem Figure) when

tolded at the dotted line shown.

Problem Figure
o e

TR
Ans  of 1 A

X2C

<3D

X +B

geg 9.00 s
K3 2
0.00 AM
geg 8.45 s
Koa 2
845 AM
@06 45 —[38-{80+4—(8—-12+3)+4}] =7 Question ID : 9864494549
45 -[38—{80+4—-(8—-12+3)+4}] =7 Status ; Not Answered
Ans x 125 Chosen Option : --
<227
vz 26
<428
Q.67 Tf&3cos?x - 2sin*x =~ 0.75F3R0° < x < 90°F, T x & A T M2 Question ID : 9864494567
If 3cos?x - 2sin’x =- 0.75and 0° < x < 90°% thenx =7
Ans x 1 ) Status : Not Answered
30 Chosen Option : -
< 2.90°
V'3 60°
< 4. 45°
o8 %m :ﬂmﬁgﬁ sﬂ';;ﬁ';m ﬁ%}ﬁ- T S Fe Question ID : 9864495097
) Status : Answered
CEC B CE] Chosen Option :1
.E L]

Q.69

Question ID :9864494924

Status : Not Answered
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#=r % et H doar & Sl WM oI 3 39 AEg & a0 o
wﬁmﬁm%@ﬁmﬁﬁmﬁmmﬁaﬁﬁmw%:

TeT T AT — WS F AC F g - TR H IR T A

e AFeT F 99T H

Given in the options are sets of particular characteristics of elements and how they vary
across the period and down the group in the following format:

Characteristic of an element — Across the period — Down the group

Select the correct set from the given options.

Ans ?<. 1.

fege usTersan aifeas weTor — wgar /3R A ¥ — wear dew @ ¥

Electropositive charactermetallic character — Increase — Decrease

X 2

fogga emreAFan afcas w1oT — sgar §/3fe A § — soar dgfE A 7

Electropositive character/metallic character — Increase — Increase

v &)

farege weerean enfoass oetor — wear §Ew e & —wear dafE B §

Electropositive character/metallic character — Decrease — Increase

X a4

faege uTcamal uifess we70r —uedr ¥/F AT § — "edr e g ¥

Electropositive character/metallic character — Decrease — Decrease

Q7o ﬁ?: "lelecle|m
w 70 | 90 | 50 | 85
X 55 | 80 | 95 | 60
Y 60 | 20 | 90 | 40
z 90 [ 80 [ 40 | 65

Question ID :9864495067
Status : Not Answered
Chosen Option : --

IUted WRUT =W fagameifor, W, X, Y @ Z @@T P, C, B Td M # wred
e, ZATT T F| g AT @ afeaH 3 100 2

P,C,MTa B H #d &0 &

o 2
Stu/

P (o] B M
Sub

w 70 | 90 | 50 | 85

X 55 | 80 | 95 | 60

Y 60 | 20 | 90 | 40

z 90 | 80 | 40 | 65

Taeaneft & == gfaeE 3w oo

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C, B and M, with the maximum marks in each subject being 100.
The student who got the highest percentage of marks in P, C, M and B combined is:

Ans le

X2X
Xay
Xz

Q71

Question ID :9864494786
Status : Answered

Chosen Option : 4
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P C B M

70 | 90 | 50 85
55 | 80 | 95 60
60 | 20 | 80 40
z 90 | 80 | 40 65
T & 7§ afesr 4 o WX, Y, Z R 4 Rwdt P,CB, M & T st
&I e § 3 s e % e s 100 §

Mg 7 IR ST H PCMB # 3a3% Fol Sfowrd 30 & FgaR T fam =me

e

CAD]
w
X
Y

ar T JET T HeET |
Stu/
Sub P C B M
W 70 0 50 85
X 55 80 Q5 60
Y 60 20 0 40
z 90 80 10 [

The above table represents the marks obtained by 4 students WX, Y, Z in 4 subjects
P,C.B. M with maximum marks in each subject being 100.

If these four students are given ranks according to their total percentage of marks in
PCMB then gets the 3™ rank.

Ans Kl_w
X2 X
Xs3Y
vz

Q.72 37 fameT & = F S wrge 7 & =t r wew w7 sfafafey e d

S’

Select the option that represents the number of squares in the given figure.

N’
Ans x14
V26
X5
Xa7

Question ID

19864495081

Status : Answered

Chosen Option

:3

Q73 {8 - (28- 53)} + {- 4x5- (-9)} =2
(8- (28-53)} = {- 4x5- (-9)}=2
Ans }(1_11
W2 _3
X33
K4 —11

Question ID
Status

Chosen Option :

19864494889
:Not Answered

Q.74

Question ID

Chosen Option

19864494146
Status :

Answered

:3

file://lhome/chrono

& Download RRB Exams PDF E-BOOKS

27/28


https://career.aglasem.com/
https://rrbexamportal.com/study-kit/rrb-technician
https://rrbexamportal.com/ebook

CLICK BELOW LINK TO DOWNLOAD PDF NOTES
https://rrbexamportal.com/study-kit/Railway-NTPC-Exam



https://rrbexamportal.com/study-kit/Railway-NTPC-Exam
https://rrbexamportal.com/study-kit/Railway-NTPC-Exam

9/14/2018

Ans

Downl pad RRB ALP TECHNI¥fAN Exam St udy Not es

A< fET 7T 38T F FH T 9T W H TIT H

K. M, P T,

Select the letter missing from the given letter series.

K.MPT,
<X
X28
vy
K4z

Ans

file://lhome/chrono

T e g 0" ¥ A 9% #aT g, Fig A 9 wgEe & A @ #r e
20 feifer e &, T ard a7z = € st fig B aF e & faw 10
faeiralter Fr 7 Feer &, f aw 75 o s By C 9% e ¥ R
9 RreiEleT #r o X €, O ae fqF A § s Rig D aF wgae %
forw 5 fameiafiet & aran wear ¢, o are 73 arn ¢ AR g B aw adee
& e 12 Rradier &1 e &tar § 3 o e 735 e § o fig P oo
g % T 6 Fretefier #r amr #=ar g

fig B ot fig C' & A #1 gew g0 e B2

A man starts from peint ‘O’, travels 20 km towards east to reach point “A’, turns right and
travels 10 km to reach point ‘B’, turns right and travels 9 km to reach point ‘C’, turns right

and travels 5 km to reach point ‘D’, turns left and travels 12 km to reach point ‘E’ and
then turns right and travels 6 km to reach point ‘F".

‘What is the shortest distance between point ‘E’ and point *C’?

V113
X 2.2
<3420
K 44145

Question ID :9864494723
Status : Not Answered

Chosen Option : --

& Download RRB Exams PDF E-BOOKS

28/28


https://career.aglasem.com/
https://rrbexamportal.com/study-kit/rrb-technician
https://rrbexamportal.com/ebook



